
EKİM 2017 TARİH BASKILI
MATHEMATICS-I

DERS KİTABINA İLİŞKİN DÜZELTME CETVELİ

1-	 Ünite 2, Sayfa 45, Answer Key for “Test Yourself”, Soru 3’ün yanıtı “b” şıkkı olarak değiştirilmiştir.	

2-	 Ünite 3, Sayfa 63, sol sütun “Solution” kısmında yer alan aşağıdaki bölüm yeniden düzenlenmiştir.

	 2. 3-3x <= 0 Add 3x to both sides so that

	 3 <= 3x; Divide both sides by 3 to obtain

	 1<=x. Therefore the solution set is the interval [1, sonsuz), that is, all real numbers greater than or equal to one.

3-	 Ünite 7, Sayfa 162’de bulunan “your turn 3”  aşağıdaki şekilde düzenlenmiştir.

	 “A well-known brand can sell a particular product for 80 TL. Total cost of the manufacturer is the sum of a fixed overhead of 
7500 TL plus production costs of 50 TL per unit.

	 a.	 How many units must the manufacturer sell to break even?

	 b.	 What is the manufacturer’s profit or loss if 200 units are sold?

3-	 Ünite 7, Sayfa 175’de bulunan ““Suggested Answers for ‘Your Turn” ”  aşağıdaki şekilde düzenlenmiştir. 

	 “A well-known brand can sell a particular product for 80 TL. Total cost of the manufacturer is the sum of a fixed overhead of 
7500 TL plus production costs of 50 TL per unit.

	 a.	 How many units must the manufacturer sell to break even?

	 b.	 What is the manufacturer’s profit or loss if 200 units are sold?


